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Discount

DISCOUNT/NwV (cV~Vk)
(SSC CGL Mains Practice Sheet)

1. The marked price of a refrigerator is Rs.

60,000. A shopkeeper offers a flat discount

of Rs. 12,000 on full cash payment. Further

he offers an extra discount of 5% on the

marked price to his regular customers. How

much does a regular customer have to pay

for the refrigerator?

,d jsfÚtjsVj dk vafdr ewY; #- 60]000 gSA nqdkunkj
iw.kZ udn Hkqxrku djus ij #- 12]000 dh ,d lh/h NwV
nsrk gSA blds vykok og vius fu;fer xzkgdksa dks vafdr
ewY; ij 5» dh vfrfjDr NwV iznku djrk gSA ,d fu;fer
xzkgd dks jsfÚtjsVj ds fy, fdruk Hkqxrku djuk iM+sxk\

SSC CHSL 31/05/2022 (Shift- 01)

(a) Rs. 45,000 (b) Rs. 48,000

(c) Rs. 44,000 (d) Rs. 47,000

Sol: (a)

Amount pay

60000 – (12000 + 60000 × 
5

100
)

= 60000 – 15000 = 45000

2. At a factory outlet of a footwear company,
every item is available at a discount of 10%.
Charu selected footwear marked for Rs. 900.
While paying the bill, it was found that the
footwear was slightly damaged for which she
got another discount of 10%. How much did

she pay for the footwear?

fdlh iqQVfo;j daiuh ds dkj[kkus dh nqdku ij] izR;sd
oLrq 10» ds cV~Vs ij miyC/ gSA pk# us] #- 900 ds
vafdr ewY; okyk iqQVfo;j ilan fd;kA fcy dk Hkqxrku
djrs le;] ;g ik;k x;k fd iqQVfo;j FkksM+k lk [kjkc
Fkk] ftlds fy, mls 10» dk ,d vkSj cV~Vk feykA
iqqVfo;j ds fy, mlus fdruk Hkqxrku fd;k\

SSC CHSL 16/04/2021 (Shift- 03)

(a) Rs. 720 (b) Rs. 729

(c) Rs. 810 (d) Rs. 801

Sol: (b)

Amount that customer pays = 900 × 
9 9

10 10


= Rs. 729

3. When a watch is sold at 7/8th of the marked

price, there is a profit of 25%. At what

percentage more than the cost price has the

marked price of the watch been fixed?

[Give your answer correct to 2 decimal places.]

tc ,d ?kM+h dks vafdr ewY; ds 7@8 ij cspk tkrk
gS] rks 25» dk ykHk gksrk gSA ?kM+h dk vafdr ewY; Ø;
ewY; ls fdrus izfr'kr vf/d ij vafdr fd;k x;k gS\
[n'keyo ds nks rd 'kq¼ eku nsaA]

SSC MTS 25/07/2022 (Shift- 03)

(a) 34.46% (b) 42.86%

(c) 37.15% (d) 30%

Sol: (b)

MP = 8, SP = 7

P% = 25% = 
P1

CP4





SP = 5

C.P            M.P       

7
× 4

5
:       8   

7       :      10

more%  = 
300

%
7

= 42.86%
4. A shopkeeper marked every item 25% above

the cost price and allowed 10% discount.

Shruti being a regular customer got 5%

additional discount on the bill and paid Rs

2394 for the item purchased. What is the cost

price of the item (in Rs)?

dksbZ nqdkunkj] izR;sd oLrq ij Ø; ewY; ls 25» vf/
d ewY; vafdr djrk gS vkSj ml ij 10» dh NwV nsrk

gSA fu;fer xzkgd gksus ds dkj.k Jqfr dks fcy ij 5»
dh vfrfjDr NwV feyrh gS vkSj [kjhnh xbZ ,d oLrq ds
fy, 2394 #i;s dk Hkqxrku djrh gSA ml oLrq dk Ø;

ewY; (: esa) Kkr djsaA

SSC CGL 18/08/2021(Shift- 01)

(a) 2440 (b) 2240

(c) 2220 (d) 2420
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Discount

Sol: (b)

C.P         M.P        S.P
400         500       

9 19
500 × ×

10 20

= 427.5

427 unit  2394

400 unit  5.6 × 400 = 2240

5. The marked price of an article is Rs 660. A

shopkeeper allows a discount of 20% and still

gets a profit of 10%. If he sells it for Rs 470,

his profit or loss per cent, correct to two

decimal places will be:

,d oLrq dk vafdr ewY; #- 660 gSA gSA nqdkunkj bl
ij 20» dk cV~Vk nsrk gS] rks Hkh mls 10» dk ykHk
gksrk gSA ;fn og bl oLrq dks #- 470 esa csprk gS] rks

mldk ykHk ;k gkfu izfr'kr (nks n'keyo LFkku rd

lgh) Kkr djs aA

SSC CHSL 11/08/2021 (Shift- 01)

(a) Profit 3.06% (b) Loss 2.08%

(c) Profit 7.59% (d) Loss 5.43%

Sol: (b)

C.P         M.P        S.P

400        500         528
×10

11
 = 

5280

11

C.P           S.P  

                470         
5280

11

528     :     517

 :

L% = 
1100

528
×100% = 2.08%

6. A shopkeeper bought a machine for Rs 4600

and spent Rs 500 on its repairs and transport.

He marked the machine at 8% above the

overall cost price. If he sold the machine for

Rs 4681.80 after giving x% discount, then the

value of x is:

dksbZ nqdkunkj fdlh e'khu dks 4600 #i;s esa [kjhnrk gS

vkSj mldh ejEer vkSj ifjogu ij 500 #i;s [kpZ djrk

gSA og e'khu ij dqy ykxr ewY; ls 8» vf/d vafdr

djrk gSA x% dh NwV nsus ds ckn] ;fn og e'khu dks

4681-80 #i;s esa csprk gS] rks x dk eku Kkr djsaA

SSC CGL 18/08/2021(Shift- 03)

(a) 18 (b) 15

(c) 20 (d) 12

Sol: (b)

Total C.P

= (4600 + 500) = 5100
Marked 8% above over all CP
5100 + (5100 × 8%) = 5508
SP = 4681.8

Discount x% = 
826.2

5508
×100% = 15%

7. A dealer gains 20% by selling an article at

25% discount on its marked price. If the cost

price of the article is decreased by 15%, how

much discount percentage should he now give

on the same marked price so as to earn the

same percentage of profit as before?

,d foØsrk fdlh oLrq dks mlds vafdr ewY; ij 25%

dh NwV nsdj 20% dk ykHk çkIr djrk gSA ;fn oLrq

dk Ø; ewY; 15% de gks tkrk gS] rks vc mls mlh

vafdr ewY; ij fdrus çfr'kr dh NwV nsuh pkfg, rkfd

mldk ykHk çfr'kr iwoZor cuk jgs\
SSC CGL MAINS 03/02/2022

(a) 32.50% (b) 35%

(c) 36.25% (d) 37.75%

Sol: (c)

M.P 100 20 120
=

C.P 100 – 25 75




17 6
120 × = 75× ×

100 20 5

x

x = 
75 102

120



x = 63.75%
Discount = 36.25%

8. Trader A gives a single discount of 25% and

Trader B gives two successive discounts of

20% and 5% on an identical item. If the

discount given by A is Rs 320 more than the

discount given by B, then what is the marked

price (in Rs) of the item?

leku oLrq ij VªMj A, 25% dh ,dy NwV nsrk gS vkSj

VªsM B] 20» vkSj 5» dh nks Øekxr NwV nsrk gSA ;fn A

}kjk nh xbZ NwV B }kjk nh xbZ NwV ls 320 #i;s vf/d

gS] rks oLrq dk vafdr ewY; (:i;s esaa) Kkr djsaA
SSC CGL 24/08/2021(Shift- 02)

(a) 32000 (b) 30000

(c) 25000 (d) 3200
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Sol: (a)

Single discount of 20% & 5% successively

20 + 5 – 
20 5

24%
100




ATQ,

25% – 24% = 320

1% = 320

100% = 32000

9. In a goverment scheme, if an electricity bill

is paid before the due date, one gets a

reduction of 5% on the amount of the bill.

By paying the bill before the due date, a person

got a reduction of Rs. 20. The amount of his

electricity bill was:

,d ljdkjh ;kstuk esa] vxj fctyh ds fcy fu;r rkjh[k

ls igys pqdk;k tkrk gS] rks fcy dh jkf'k ij 5» dh

NwV feyrh gSA fu;r rkjh[k ls igyw fcy dk Hkqxrku

dj ds ,d O;fDr dks #- 20 dh NwV feyhA mlds fctyh

ds fcy dh jkf'k fdruh FkhA

SSC CHSL 24/05/2022 (Shift- 03)

(a) Rs. 440 (b) Rs. 400

(c) Rs. 520 (d) Rs. 420

Sol: (b)

ATQ.

5% = 20

100% = 400

10. Under a sale offer, Tanvir was offered a 32%

discount on the part of the marked price that

was paid in cash, but had to add 1.2% on the

part of the marked price paid through a credit

card. If Tanvir paid 75% of the marked price

in cash and the rest through a credit card,

what percentage of the marked price was his

total final payment?

fcØh izLrko ds rgr] udn esa Hkqxrku fd, x, vafdr
ewY; ds fgLls ij ruohj dks 32» NwV dk izLrko fn;k
x;k Fkk] ysfdu ØsfMV dkMZ ds ekè;e ls Hkqxrku fd,

x, vafdr ewY; ds fgLls ij 1-2» tksM+uk iM+kA ;fn
ruohj us vafdr ewY; dk 75» udn vkSj 'ks"k ØsfMV
dkMZ ds ekè;e ls Hkqxrku fd;k gks] rks mldk dqy

vafre Hkqxrku vafdr ewY; dk fdruk izfr'kr Fkk\

SSC CHSL 31/05/2022 (Shift- 03)

(a) 76.6% (b) 75.9%

(c) 76.1% (d) 76.3%

Sol: (d)
75%    25%
 3       :     1
 68%    (100% + 1.2%)

3 68 101.2
76.3%

4

 


11. Under a sale offer for an item, Mahesh was offered

24% discount on the part of the marked price

that was paid in cash, but was charged 1.5% on

the part of the marked price paid through a credit

card. If Mahesh paid 40% of the marked price

in cash and the rest through a credit card and

his total final payment was Rs.6,391, what was

the marked price of the item?

fdlh oLrq ij ,d lsy vkWiQj eas] egs'k dks vafdr ewY;
ds ml fgLls ij 24» NwV dh is'kd'k dh xbZ ftldk

Hkqxrku udn eas fd;k tkuk Fkk] ysfdu ØsfMV dkMZ ds
Hkqxrku fd, x, vafdr ewY; ds fgLls ij 1-5» dk 'kqYd
yxk;k x;kA ;fn egs'k us vafdr ewY; dk 40» udn esa
vkSj 'ks"k ØsfMV dkMZ ls fn;k vkSj mldk dqy vafre Hkqxrku
#i;s 6]391 Fkk] rks oLrq dk vafdr ewY; D;k Fkk\

SSC CHSL 01/06/2022 (Shift- 02)

(a) Rs.7,200 (b) Rs.6,900

(c) Rs.7,050 (d) Rs.7,000

Sol: (d)

40%   60%

2       :     3

76%    101.5%

Pay = 
152% 304.5%

5


 = 

456.5
% 91.3%

5


91.3% = 6391

100% = 7000

12. A retailer bought 50 kg of Arhar Dal at a

discount of 20 %. Besides 2 kg dal was freely

offered to him by the wholesaler at the purchase

of 50 kg. Now he sells the dal at the marked

price to a customer. What is the profit

percentage of the retailer?

,d fjVsyj us 50 fdxzk vjgj dh nky dks 20» dh

NwV ij •jhnkA blds vykok 50 fdxzk nky dh •jhn

ij Fkksd O;kikjh ls mls 2 fdxzk nky eqÝr esa feyhA

vc og ,d xzkgd dks vafdr ewY; ij nky csp nsrk

gSA fjVsyj dk ykHk çfr'kr D;k gS\

(a) 30% (b) 12%

(c) 15% (d) 22%
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Sol: (a)

 C.P         M.P

Buy      4      :     5

Free    50     :     52

200    : 260

Profit = 30%

13. A shopkeeper allows two successive discounts

of 10% and 5% on the marked price of an

article but charges a sales tax of 5% on the

discounted price. If a customer pays Rs.

1436.40 as including the sales tax, then what

is the marked price?

,d nqdkunkj ,d oLrq ds vafdr ewY; ij 10» vkSj

5» dh Øfed NwV nsrk gS] ysfdu NwV fn, x, ewY; ij

5» dk fcØh dj yxkrk gSA ;fn ,d xzkgd fcØh dj

lfgr 1436-40 #i;s dk Hkqxrku djrk gS] rks vafdr

ewY; fdruk gS\

(a) Rs. 1000 (b) Rs. 1200

(c) Rs. 1500 (d) Rs. 1600

Sol: (d)

9 19 21
1436.4

10 20 20
x    

x = 1600

14. A hotel is giving a discount of 12% on the

booking of 2 or more rooms. Additionally, the

hotel is offering a 5% discount only on

payment using any card of SBI. Rakesh booked

2 rooms in the hotel for a day at the rate of

Rs.1,500 per room per day. While checking

out, he paid the bill using SBI Silver Card.

How much amount did he have to pay?

,d gksVy 2 ;k vf/d dejksa dh cqfdax ij 12» dh NwV

ns jgk gSA blds vykok] gksVy dsoy ,lchvkbZ ds fdlh

Hkh dkMZ dk mi;ksx djds Hkqxrku djus ij 5» dh NwV ns

jgk gSA jkds'k us gksVy eas ,d fnu ds fy, 1]500 #i;s

izfr dejk izfr fnu dh nj ls 2 dejs cqd fd,A psd

vkmV djrs le; mlus ,lchvkbZ flYoj dkMZ ls fcy dk

Hkqxrku fd;kA mls fdruh jkf'k dk Hkqxrku djuk iM+k\

SSC CGL 05/12/2022 (Shift- 01)

(a) Rs.2,498 (b) Rs.1,254

(c) Rs.2,508 (d) Rs.2,618

Sol: (c)

Pay Bill = 3000 × 
22 19

25 20


       = 6 × 22 × 19

       = 2508

15. In a shop, a discount of 5 percent is provided,

and if the total payable amount after discount

is more than Rs.2,000, then an additional

discount of 10 percent is provided. Determine

the final amount to be paid (in Rs.) by a

customer, if he buys five products each of

price Rs.500.

,d nqdku eas 5 izfr'kr dh NwV iznku dh tkrh gS vkSj
;fn NwV ds ckn dqy ns; jkf'k 2]000 #i;s ls vf/d
gS] rks 10 izfr'kr dh vfrfjDr NwV iznku dh tkrh gSA
;fn xzkgd 500 #i;s izR;sd dh dher ds ik¡p mRikn
[kjhnrk gS] rks mlds }kjk Hkqxrku dh tkus okyh jkf'k
(#i;s eas) Kkr dhft;sA

SSC CGL 07/12/2022 (Shift- 01)

(a) Rs.2,500 (b) Rs.2,225.5

(c) Rs.2,375.5 (d) Rs.2,137.5

Sol: (d)

Pay = 5 × 500 ×
19 9

20 10
   = 2137.5

16. A grocery store is offering a discount of 10%

on the purchase of Rs.500 and above. 5% off

on purchases above Rs.250 but less than

Rs.500. Additional 1% discount is given for

cash down payment. If a customer buys 25

packets of biscuits at the rate of Rs 30 a

packet, how much will he have to pay in cash?

,d fdjkus dh nqdku 500 #i;s vkSj mlls vf/d dh
[kjhn ij 10» dh NwV ns jgh gSA 250 #Ik;s ls vf/d
ysfdu 500 #i;s ls de ewY; dh [kjhnkjh ij 5» dh
NwV nh tkrh gSA rRdky udn Hkqxrku djus ij vfrfjDr
1» dh NwV nh tkrh gSA ;fn dksbZ xzkgd 30 #i;s iSdsV
dh nj ls 25 iSdsV fcLdqV [kjhnrk gS rks mls fdruk
udn }kjk Hkqxrku djuk gksxk\

SSC CGL 09/12/2022 (Shift- 04)

(a) Rs.670.25 (b) Rs.668.25

(c) Rs.675 (d) Rs.667.05

Sol: (b)

Cash payment

= 25 × 30 × 
19 99

10 100
  =

3 9 99

4

 
 = 668.25

Note: Not required to complete multiplication
option will the multiple of (9 and 11)

Only option (b) satisfied
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Discount

17. A trader offers to sell a commodity under any

of the two schemes mentioned below:

,d O;kikjh uhps mfYyf[kr nks ;kstukvksa esa ls fdlh ,d ds
rgr oLrq cspus dh is'kd'k djrk gS%
Scheme 1: The trader offers two successive discounts

of 20% and 12.5% on the sale of each unit.

;kstuk 1% O;kikjh izR;sd bdkbZ dh fcØh ij 20» vkSj 12-5»
dh nks Øfed NwV iznku djus dh is'kd'k djrk gSA
Scheme 2: The trader offers the buyer an option

to 'pay for y units, get z units free'.

;kstuk 2% O;kikjh [kjhnkj dks y bdkb;ksa ds fy, Hkqxrku djsa] z
bdkb;ksa dks eqÝr esa izkIr djsa] ds fodYi dh is'kd'k djrk gSA
The buyer realizes that if he needs to buy (y +

z) units, it does not matter to him which of the

two schemes he opts for.

[kjhnkj dks ;g irk pyrk gS fd vxj ls (y + z) bdkbZ
[kjhnus dh t:jr gS] rks blls dksbZ iQdZ ugha iM+rk fd og
nksuksa esa ls dkSu&lh ;kstuk pqurk gSA
Which of the following options gives a correct

ordered pair of (y, z)?

fuEufyf[kr esa ls dkSu&lk fodYi (y, z) dk lgh Øfer ;qXe
nsrk gS\

SSC PHASE XI 28/06/2023 (Shift-02)

(a) (3, 7) (b) (7, 10)

(c) (10, 7) (d) (7, 3)

Sol: (d)

MP SP

5 : 4

8 : 7

10 7

Discount% = 30%
By option (d)

3

(7 3)
×100% = 30%

both condition equal.

So, option (d) correct

18. A retailer marked the price of his article so
as to include a profit of 21%. If he allowed the
discount of 12% on the marked price, what
was his actual profit on that article?

,d iQqVdj foØsrk us viuh oLrq dk ewY; bl çdkj vafdr
fd;k fd mlesa 21» dk ykHk 'kkfey gksA ;fn og vafdr
ewY; ij 12» dh NwV nsrk gS] rks ml oLrq ij mldk
okLrfod ykHk fdruk Fkk\

CRPF HCM 22/02/2023 (Shift - 03)

(a) 5.98% (b) 7.28%

(c) 8.18% (d) 6.48%

Sol: (d)

22
121×

25

C.P         M.P        S.P

100         121       

 C.P           S.P

121× 22

25
      100      :     

162
6.48%

25
=

2500   :     2662

P%      =   

19. A shopkeeper allows a discount of 15% on a
text book with the marked price ` 100. On
request, he further allows a discount of 10%
on the new price of the goods. What is the
overall discount given to the customer?

,d nqdkunkj ,d ikB~; iqLrd ds 100 #- ds vafdr
ewY; ij 15» dh NwV nsrk gSA vuqjks/ djus ij] og
oLrq ds u, ewY; ij 10» dh vfrfjDr NwV nsrk gSA
xzkgd dks nh xbZ dqy NwV fdruh gS\

SSC CPO 09/11/2022 (Shift-02)

(a) ` 23.50 (b) ` 75.00

(c) ` 25.00 (d) ` 76.50
Sol: (a)

Pay amount = 100 × 
17 9

20 10
 = 

153

2
= 76.5

Discount = 100 – 76.5 = 23.5
20. After successive discounts of 10% and 5%,

an article was sold for ` 342. What was the
original price of the article?

10» vkSj 5» dh Øfed NwVks a ds ckn] dksbZ oLrq #-
342 esa csph xbZA ml oLrq dk izkjafHkd ewY; D;k Fkk\

SSC CPO 11/11/2022 (Shift-03)

(a) ` 400 (b) ` 342

(c) ` 300 (d) ` 442
Sol: (a)

9 9

10 20
 x = 342

x = 400
21. A silver puja thali set marked at Rs 10,000 is

sold with two successive discounts of 10% and

5%. An additional 5% discount is offered if the

payment is made in cash mode. Find the selling

price of the article on cash payment.

pkanh dh ,d iwtk dh Fkkyh ds lsV dks :i;s 10]000 ds
vafdr ewY; ij 10» vkSj 5» dh Øfed NwV ds lkFk cspk
tkrk gSA Hkqxrku udn fn;k tkus ij] vfrfjDr 5» dh NwV nh
tkrh gSA udn Hkqxrku ij oLrq ij foØ; ewY; Kkr djsaA

SSC PHASE XI 27/06/2023 (Shift-03)

(a) Rs 8,212.50 (b) Rs 8,122.50

(c) Rs 8,100.50 (d) Rs 8,200.50
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Sol: (b)

Pay amount = 10,000 × 
9 19 19

10 20 20
 

= 
5 9 19 19

2

  
= 8122.5

22. The marked price of every item being sold by
a wholesaler was Rs. 300. The wholesaler was
offering a stock-clearance sale under which,
for every three items paid for, one item was
being given free. In addition to this, a further
10% discount on the amount payable on the
'Buy 3, Get 1 free' scheme price was being
offered to anyone making purchases worth
more than Rs. 10,000. Ramesh made
purchases for which this amount payable was
Rs. 18,000.  What was the effective percentage
discount that was offered to Ramesh during

this transaction?

,d Fkksd O;kikjh }kjk csph tk jgh izR;sd oLrq dk
vfdr ewY; #- 300 FkkA Fkksd O;kikjh ,d LVkWd&Dyh;jsal
lsy dh is'kd'k dj jgk Fkk] ftlesa izR;sd rhu oLrq,¡
[kjhnus ij] ,d oLrq eqÝr nh tk jgh FkhA blds vykok]
#- 10]000 #- ls vf/d dh [kjhnkjh djus okys fdlh
Hkh O;fDr dks ^3 [kjhnsa] 1 eqÝr ik,* ;kstuk dh ns;
jkf'k ij 10» dh NwV nh tk jgh FkhA jes'k us [kjhnkjh
dh ftlds fy, ;g ns; jkf'k #- 18]000 FkhA bl ysu&nus
ds nkSjku jes'k dks fdruh izHkkoh NwV nh xbZ\

SSC CHSL 24/05/2022 (Shift- 01)

(a) 32% (b) 31.5%

(c) 32.5% (d) 32.75%

Sol: (c)

MP SP

Discount 4 : 3

Extra 10 : 9

40 27

Discount% = 
13

100%
40

 = 32.5%

23. When a shopkeeper gives a discount of 
1

17
2

% on

the marked price of an item, his gain is 32%. If
the gives d% discount on the same marked price,
then his gain will be 36%. What is the value of d?

tc ,d nqdkunkj fdlh oLrq ds vafdr ewY; ij 
1

17
2
»

dh NwV nsrk gS] rks mldk ykHk 32» gksrk gSA ;fn og mlh
vafdr ewY; ij d» dh NwV nsrk gS] rks mldk ykHk 36»
gksxkA d dk eku D;k gS\

CRPF HCM 28/02/2023 (Shift - 03)

(a)
1

14
2

(b) 16

(c)
1

12
2

(d) 15

Sol: (d)

(100 – 17.5) (100 – d)

132 136


3400 – 595 = 3300 – 33d

33d = 495

d = 15

24. A shopkeeper announces a discount of 48%

and then by a further discount of 15%. What

is the final sale price (in Rs. to the nearest

rupee) of a sofa costing Rs. 29,600 and what

is the discount (in Rs)?

,d nqdkunkj 48» vkSj fiQj 15» dh ,d vkSj NwV dh
?kks"k.kk djrk gSA #- 29]600 ewY; okys lksisQ dk vafre
foØ; ewY; (#- esa yxHkx) vkSj NwV (#- esa) Kkr djsaA

SSC CGL 18/04/2022 (Shift- 02)

(a) 13280,16517 (b) 16517,13280

(c) 16517,13083 (d) 13083,16517

Sol: (d)

Final SP = 29600 × 
13 17

25 20
  13083

Discount = 16517

25. A shopkeeper allows a 28% a discount on the

marked price of an article and still makes a

profit of 30%. If he gains Rs. 39.90 on the

sale of one article, then what is the marked

price (to the nearest Rs.) of the article?

,d nqdkunkj fdlh oLrq ds vafdr ewY; ij 28» dh

NwVnsrk gS vkSj fiQj Hkh 30» dk ykHk dekrk gSA ;fn mls

oLrq dh fcØh ij #- 39-90 dk ykHk gksrk gS] rks oLrq dk

vafdr ewY; (fudVre #- rd iw.kk±fdr) D;k gS\

SSC CGL 18/04/2022 (Shift- 01)

(a) 200 (b) 133

(c) 173 (d) 240

Sol: (d)

MP (100 30) 130 65

CP (100 – 28) 72 36


  

SP = 
13

36 46.8
10

 

Profit 10.8 unit =  39.9

          65 unit   240
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Discount

26. An article is marked Rs. 224 above its cost

price. It was sold at a profit of 20% after giving

a discount of 15% on its marked price. What

is the selling price (in Rs) of the article?

,d oLrq ij mlds Ø; ewY; ls :i;s 224 vf/d vafdr
gSA bls blds vafdr ewY; ij 15» dh NwV nsdj 20» ds
ykHk ij cspk x;kA oLrq dk foØ; ewY; (:i;s esa) D;k gS\

SSC Phase IX 2022

(a) 625.75 (b) 615.45

(c) 652.80 (d) 672.30

Sol: (c)

Let CP = x

MP = (x + 224)

(x + 224) × 
17 6

20 5
 x

7x = 224 × 17

SP 
6

5
 × x = 32 × 17 × 

6

5
 = 652.8

27. A dealer marks an article 40% above its cost

price, and sells it by giving two successive

discounts of 15% and 25% on the marked

price. If he suffers a loss of Rs 43, then the

marked price (in Rs) of the article is:

,d Mhyj ,d oLrq ij mlds Ø; ewY; ls 40» vf/d
vafdr djrk gS] vkSj vafdr ewY; ij 15» vkSj 25» dh
nks Øekxr NwV nsdj mls csprk gSA ;fn mls 43 #i;s dh
gkfu gksrh gS] rks oLrq dk vafdr ewY; (# esa) gS%

SSC Phase IX 2022

(a) 700 (b) 560

(c) 420 (d) 480

Sol: (b)

Let CP = 100

MP = 140

SP = 140 × 
17 3

20 4
 = 

119 3

4


= 89.25

Loss% = 10.75 unit = 43

1 unit = 4

(MP) 140 unit = 560

28. A discount of 10% is offered on the price of

an article if the payment is made online. An

additional discount of 5% is given to credit

card holders. A person wishes to buy a watch

priced at Rs 60,000 by paying online through

credit card. How much does he need to pay

(in Rs)?

;fn Hkqxrku vkWuykbu fd;k tkrk gS rks fdlh oLrq
dh dher ij 10» dh NwV nh tkrh gSA ØsfMV dkMZ /
kjdks a dks 5» dh vfrfjÙkQ NwV nh tkrh gSA ,d O;fÙkQ
ØsfMV dkMZ ds ekè;e ls vkWuykbu Hkqxrku djds 60]000

#i;s dh dher okyh ?kM+h •jhnuk pkgrk gSA mls fdruk
Hkqxrku djuk gksxk (#i;s es a) djuk gksxk\

SSC CGL MAINS 29/01/2022

(a) 62,150 (b) 51,300

(c) 61,250 (d) 53,100

Sol: (b)

Pay amount = 60,000 × 
9 19

10 20


= 300 × 171 = 51300

29. A shopkeeper offers two successive discounts

of 15% and 20% on an article and is still able

to earn 70% profit. If he offers only 30%

discount what will be his profit percentage?

,d nqdkunkj ,d oLrq ij 15» vkSj 20» dh Øfed

NwV nsus ds ckn Hkh 70» ykHk vftZr djrk gSA ;fn og

dsoy 30» NwV nsrk gS] rks mldk ykHk çfr'kr fdruk

gksxk\
(a) 50% (b) 65%

(c) 70% (d) 75%

Sol: (d)
MP          SP         CP

100        
17 4

100
20 5

           
68

10
17



                68                  40
If SP = 100 × 70% = 70
CP       SP
4     :    7
P% = 75%

30. At what price should a shop keeper mark a

radio that costs him Rs. 1200 in order that

he may offer a discount of 20% on the marked

price and still make a profit of 25%?

,d jsfM;ks ftls nwdkunkj us 1200 # esa •jhnk gks]

mlij mls fdruk ewY; vafdr djuk pkfg, fd og vafdr

ewY; ij 20» NwV nsrs gq, 25» ykHk vftZr dj lds \

(a) 1675 (b) 1875

(c) 1900 (d) 2025

Sol: (b)

4 5
1200

5 4
  x

x = 
1500 5 7500

4 4


 = 1875
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